D0 MYRID/T VPRI ORI XMP X22 noon M AT TIOY Y BT

[ntroduction to 1217 - Y'av 179

We have completed the first broad section of P11 naon, dealing with pnn 'pr (damage caused by property), including 1w ’pm
(1), %3 1w , M1 and wR. Now, the mwn turns its attention to 1911 *p11 — when the person causes damage himself. One of the first
types of Pptn (as we saw in the two mn»a of 13/24 pp>ra mar is 21. Keep in mind that 213 has two unique payment “schedules” —
for regular burglary, he pays double — “595” — and the added 50% of the payment is considered a vip. For theft of sheep or oxen, if
they are afterwards sold or slaughtered (thus irretrievable), the payment becomes 4 or 5 times the value ("nwnm nya1r”), depending
on the type of animal (vv. 1 below) Our chapter deals chiefly with various details relating to these two consequences of na; the
final mwn details various “zoning laws” limiting the raising of certain types of animals, which is then supplemented by the x1n3’s
discussion of various other mipn of 1 12 yvIn? and of 99100 RITY.
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Note: if a 101w tries to exempt himself from indemnifying the 1on by claiming that the 11779 was stolen he is considered 221 mIpv Y10
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I ’® mwn: comparison and contrast of 93 "MYWn vis-a-vis ‘M "1 "mbwn:
a  Contrast: 993 applies to all things, 'm "1 only applies to sheep and oxen (as per v. 1)
b Common: a 213 who steals from a 213 pays neither 593 nor 'm ’7 (if the 274 211 sells or slaughters)
¢ Observation: omission of “113 myv PV”, = both 213 and 213 MYV PV pay both 523 and 4/5 (possible support for 1Ny )
I Source for inclusion of (nearly) all items under rubric of 523
a  vv.3 -9 019 %) - following example (nnYw ,nw ,MW) — goods which have inherent value
i Excepting: yp7p (and 0712y as per 1m:12 RIp") which aren’t 50500
ii  Excepting: m1ow which have no inherent value
iii  Excepting: wTpn (as per mny1 —v. 3)
b Challenge: why not limit application of v1a to animals that have xwn pana 1511 nkmv (excluding fowl])
i block: mYw is on the list as well (not an animal at all 2>must include all)
ii  Defense: argument is in re: animals — perhaps only animals with that characteristic are included
iii Answer: if so, the nmn wouldn’t have to write more than one v1a
1 Challenge: couldn’t have only written 1% - ®"70 only animals which can come to nam are included
2 And: couldn’t have only written 1mn = 8”70 only animals that have nm192 nwy1p are included
iv  Answer: mention of nw is there to include fowl
1 Challenge: perhaps only 1nv fowl should be included (they have, at least, ny’91n n’aR 0*12 NRMYO)
2 Answer: 3" is an all-inclusive word (Ywa 127 "93” Hy)
(a) Challenge: 93 doesn’t always function this way — e.g. in re: 2% qwyn (v. 2 —read as 9521 V191 H22)
(b) Answer: 93 is a »17; 93 is a %93
(c) Or perhaps: 93 is also a %93; but %3 in v. 3 is a 129, else it should’ve been written at beginning with o1
2 question: if Y3 can function as a 117, why do we need all four examples (nn5v ,nY ,71NN V)
(a) Answer: 1> p3p, 1 2 =233y, 1 > 9w, 1nHw excludes something indistinguishable
(b) And: "nTar 93 Y” (now unneeded as a closing 5%3) for 31N '7’s ruling (I c) as per MR WX NTIR 53 HY
III Source for contrast between n/1:v p"a — only pay 993 if he claims 211 (not TaR) and he took an oath to that effect
a  2mn»a-ann Ren RY OR refers to 233 mMyv P (according to one, 11 is covered in 2130 R¥M’ DYR; to 27, both are ...;»10)
i Meaning (837): R¥n» R> DR — if it doesn’t prove to be as he said (that it was stolen)
ii ~ And: only applies with an oath as per n’n&n R n°an Hpa 19pn (via T MMV MY from 79v IMY — %:122)
1 question: works for kn»a that 1 is 21, other is 233 myv P, but kn’»a that sees both as 10, why need 2?
2 Answer: needed to exclude Tar myv (claim that it was lost- doesn’t pay 993)
(a) Question: how does 1t ®n» 1 infer the exclusion of Tar nmyv Answer: from 2137 (instead of 213)
(b) Q: what does 2" kn11 infer from 213p? A: 1INy '7’s: 233 MYV P is exactly like 213, even for payment of 4/5
(c) Q:how does Ist ®kn» 1 infer Ny '7’s ruling? A: from the essential wip’n of 213 to 233 MYV PV > totally equal
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